1118FE FERR( REXKE ). -H 36 =

Sanalhl : BRIZFR

=B — — = [ =B — = ] ol
£—i8 1/30 | 1/31 2/1 2/2 2/3 -8 2/6 2/7 2/8 2/9 2/10
0800 REELE | RENE | RENE | R e 0800 IREEE | IR
z BEm | EEy | Bem | mem 1| % ey | mEm
0850 0850
0900 RS | RENE | REXE | RiELE 0900 RS | REBHE
z mEy | mew | mew | mem | |2 2 ey | mEm
0950 0950
1000 RS | RENE | REXE | RELE 1000 RS | REBHE
z ey | mew | mew | mem | |3 2 ey | mEm
1050 1050
1100 REBNE | RENE | RENE| RENE 1100 REAE | RiEHE
z miem | mem | mey | mem | 4] 2 ey | mE
1150 1150
1240 1240
= 51 =
1330 1330
1340 1340
z 6| =
1430 1430
1440 1440
z 71 =
1530 1530
1540 1540
z 8| =
1630 1630
=B — — = [ o
£=38 2/13 | 2/14 | 2/15 | 2/16 | 2/17
0800 |FRIBHE|RBHE REELE
=z PRiERT | EREN Beg {2 6
0850
0900 [FRIBHE|RBHE RELE
E PRiERT | EREN Beg {2 6
0950
1000 |MREBHE[IRERE REEE
E PRiERT | EREN Beg {2 6
1050
1100 |MREBHE[IRBERE RS
E PRiERT | EREN Beg {2 6
1150
1240
z
1330
1340
z
1430
1440
z
1530
1540
z
1630




. i a .
1118 FE EERKR( %%ﬁﬁ'l’:%i )- X 36 =
3 = E=1
RIRFED : BRERTE - BRIZEFA
e — — = g fil =E — — = g f
E—8 1/30 1/31 2/1 2/2 2/3 E_8 2/6 2/7 2/8 2/9 2/10
0800 0800
1| z
0850 0850
0900 0900
21 E z
0950 0950
1000 1000
3 E z
1050 1050
1100 1100
41 = z
1150 1150
1240 | %128 | 400088 | ke 1240 | {1688 | Mo cE Gl
5 z RRoRE fRR1E RRoRiE E FRoR{E R R (&5
1330 1330
1340 | a8 | 68 | ZaiE 1340 | AR | &8 s
6 z BRRiE | BRSREE | BRREE E FRRE | BRRTE R {5
1430 1430
1440 | #MaE8 | 68 | ZaE 1440 | #aHE | &2 s
7 z RRoRE fRoR1E RRoRiE E FRoR{E R R (&5
1530 1530
1540 | a8 | 688 | ZaE 1540 | a8 | &8 s
8| = BRE | BRE | BRE E BRRfE | BRRE BeR {2
1630 1630
=g — — = 0 fil
£—B 2/13 2/14 2/15 2/16 2/17
0800
1 E
0850
0900
2 E
0950
1000
3 E
1050
1100
4 E
1150
1240 HONE | EB HlnE
5/ % BRRfE | BREBET BeR 22
1330
1340 O | HEE R
6| = BRRfE | BREBET BeR 22
1430
1440 O | HEE R
71 E BRRfE | BREBET BeR 22
1530
1540 O | HEE R
8| = BRRfE | BREBET BeR 22
1630




1112858 EERR( RERE#SH ) - X 36 =
FRERENEM : LI A

=8 — — = 7 il =B — — = ] pil
E—iB 1/30 1/31 2/1 2/2 2/3 £_8 2/6 2/7 2/8 2/9 2/10
0800 0800

E 1 E

0850 0850

0900 0900

E 2 E

0950 0950

1000 1000

E 3 ES

1050 1050

1100 1100

z 4 ES

1150 1150

1240 VB TARSHE A | PR IRSHEMES | PRI SBEA 1240 BB AR SEME SR | FRTAR A | PRFIRSHE A
z RIE | HIEE | AR 50/ HRIME | HWmE | RIE
1330 1330

1340 [RFZRREELR | IBZIRGIEEER | B IRBE S 1340 PR IR | FEZIRIREEGS | BV IRBEHR
ES HImE | HIRRE | AR 6 ES HImE | HIE | I
1430 1430

1440 [RFZERIREELR | IBZIRGIEEER | BV IRBE R 1440 PR IR | IBZIRIREEGR | BV IRBEHR
ES HImE | HIRRE | AR 7 ES HImE | HIE | I
1530 1530

1540 [RFZERREELR | IBZIRGIEEER | B IRBE MR 1540 PR IR | FEZIRIREEGR | BV IRBEHR
z HImE | HIRE | AR 8 E HImE | HIE | I
1630 1630

=& — _ = L il
E£=A 2/13 2/14 2/15 2/16 2/17

0800

z

0850

0900

z

0950

1000

z

1050

1100

z

1150

1240 BRI i | IR B R | IBMIRES R

2 HImE | HRE | AA

1330

1340 BRSNS | ERASE | YRERER

z HImE | HIRE | HATA

1430

1440 BRSNS | ERASES | YRERESR

z HImE | HRE | RTA

1530

1540 BRSNS | ERASE | YRERER

2 HImE | HEIRE | ATA

1630




1112858 =2

E=1114

r( RERRSERC-) )
Zanalhl @ MBI

#* 36 =

\

e — — = I il =B — — — | f
£—8 1/30 1/31 2/1 2/2 2/3 E_8 2/6 2/7 2/8 2/9 2/10
0800 BHRELESR | BHRESER | BHRELER 0800 BRRESEER | BHRESER | BHRESER
E WER | MEL | MEL 1] = wEL | MER | MEL
0850 1 5 9 0850 13 17 21
0900 BHRELER | BHRESER | BHRELER 0900 BRESEER | BHRESER | BHRESER
E WER | MEL | MEL 21 = wEL | MER | MEL
0950 2 6 10 0950 14 18 22
1000 BHRELER | BHRESER | BHRELER 1000 BRESEER | BHRESER | BHRESER
E WER | MEL | MEL 3] E wEL | MER | MEL
1050 3 7 11 1050 15 19 23
1100 BRRASES | BYRSSER | BURHSER 1100 WHRASES | BURASER | BURESER
z WEL | MER | HEZ 41 = wEL | MER | MEL
1150 4 8 12 1150 16 20 24
1240 1240
z 5 z
1330 1330
1340 1340
z 6| %
1430 1430
1440 1440
z 71 =
1530 1530
1540 1540
z 8 E
1630 1630
e — — = 0 fil
E£=iA 2/13 2/14 2/15 2/16 2/17
0800 BRRASES | BURNSER | BURNSER
z WER | HEZ | MEL
0850 25 29 33
0900 BRRMSES | BURNSER | BURNSER
z WER | MEZ | MHEL
0950 26 30 34
1000 BRRMSES | BURNSER | BURNSER
z WER | MEZ | MHEL
1050 27 31 35
1100 BRRMSES | BURNSER | BURNSER
z WER | MEZ | MHEL
1150 28 32 36
1240
E
1330
1340
E
1430
1440
E
1530
1540
E
1630




3¢ —t— Y Y — 2
11185 BiE0%( RESISMSEEE(—) ). i 36
TR = =
ZiR Bl - RIS
g — — = g fal £ — — = Iy il
£—8 1/30 1/31 2/1 2/2 2/3 E_B 2/6 2/7 2/8 2/9 2/10
0800 . mRaR e 0800 e ex2s— | aEnANE
11 = BIRL | BIREG | RR E BIRE | BIRE | BRR
0850 0850
0900 . ¥ e 0900 e 25— | mEHANE
21 = BIRL | BIRER | RR E BIREL | BIRE | BRR
0950 0950
1000 . ¥ e 1000 e 25— | mEHANE
3] = BIREL | BIRE | RR E BIRE | BIRE | BRR
1050 1050
1100 e mRaR s 1100 e w2 | mpame
4| = gIRfe | IR | BRR E 2R | BIREG | ARR
1150 1150
1240 1240
5| % E
1330 1330
1340 1340
6| = ES
1430 1430
1440 1440
71 = ES
1530 1530
1540 1540
8 z E
1630 1630
e — — = g h
E=8 2/13 2/14 2/15 2/16 2/17
0800 s rme— | RERNReE R RIS R —
1| = gRfe | IR | BRR
0850
0900 i ns— | MR AR E R —
2 = gIRfe | IR | BRR
0950
1000 seipres— | menReE RAREIE SR —
3] = gRfe | IR | BRR
1050
1100 seipres— | mBnReE RAREIE SR —
41 = gRfe | IR | BRR
1150
1240
51 =
1330
1340
6| =
1430
1440
71 =
1530
1540
81 =
1630




=t = LY
RERENED : MR R
EJE — — = M h =g — — = r il
E—B 1/30 /3 2/1 2/2 2/3 BB 2/6 2/7 2/8 2/9 2/10
0800 FABER(GLBER_(FABER_ 0800 RABER | GABER_(FABER_
1| = HRE | MEE | MRE EY MEE | MBE | mBER
0850 0850
0900 FABER | GLBER_(FABER 0900 RABER | GABER_(FLBER_
2| = HEE | MR 7F7F/un EY MEE | MBE | mBER
0950 0950
1000 FABER | GLBER_(FABER 1000 RABER | GABER_(GALBER_
3| % HEE | MR 7F7F/un EY MEE | MBE | HmBER
1050 1050
1100 BHBERT | AASER | BrEER_ 1100 BHBER | AABER_ | AreEn_
4|1 = MR | HMEBE | mBER EY MEE | MBE | mBER
1150 1150
1240 1240
51 % EY
1330 1330
1340 1340
6| Z E
1430 1430
1440 1440
701 = E
1530 1530
1540 1540
8| = E
1630 1630
EJE — — = s h
E=8 2/13 2/14 2/15 2/16 2/17
0800 WHBER | AABER | RASEE_
1| = HEE | MEE | MRE
0850
0900 BHBER | AASER | RrSRE_
2| = HEE | MEE | MRE
0950
1000 BHBER | AASER | RrSRE_
3] % HEE | MEE | MRE
1050
1100 BHBER | AASER | RrSEE_
4| = HEE | MEE | MRE
1150
1240
51 %
1330
1340
6 =
1430
1440
7 =
1530
1540
8| =
1630




X [ ] | ¢
1118FE FERR( RERE ) - H 36 =
RERFEN : RES
=g — — = I Fal B — — = 7y il
E—B 1/30 1/31 2/1 2/2 2/3 E_B 2/6 2/7 2/8 2/9 2/10
0800 0800
1 = 1 =
0850 0850
0900 0900
2| E 2| E
0950 0950
1000 1000
3] = 3|
1050 1050
1100 1100
41 = 41 =
1150 1150
1240 | R&=RE | IRERE | RERE 1240 | RERE | IRERE | RERE
51 % RES | REB | ®RES 51 =% RES | REB | ®KREB
1330 1330
1340 | RERZ | RERE | IRERE 1340 | RERE | IRERE | RERE
6| = RES | REB | ®RES 6| = RES | REB | ®KREB
1430 1430
1440 | RERZ | RERE | IRERE 1440 | RERE | IRERE | RERE
71 ® RES | REB | ®RES 71 E RES | REB | ®KREB
1530 1530
1540 | RERZ | RERE | IRERE 1540 | RERE | IRERE | RERE
8| = RES | REB | ®RES 8| = RES | REB | ®KREB
1630 1630
=g — — = 7 h
E=8 2/13 2/14 2/15 2/16 2/17
0800
1 =
0850
0900
2| E
0950
1000
3] =
1050
1100
41 =
1150
1240 | R&=RE | IRERE | RERE
51 = REB | REB | REB
1330
1340 | RERE | IRERE | RERE
6| % REB | REB | REB
1430
1440 | RERE | IRERR | RERE
7| % REB | REB | REB
1530
1540 | RERE | IRERR | RERE
8| % REB | REB | REB
1630




111858 FEBRR( BEREX(—) )-H# 18 =

Ty BE . =g &
IRIRZED : (526 - EME - TBX
=g — — = q il =g — _ = g il
£ 1/30 1/31 2/1 2/2 2/3 £_R 2/6 2/7 2/8 2/9 2/10
0800 0800
ES 1 z
0850 0850
0900 0900
ES 2 ES
0950 0950
1000 1000
ES 3 z
1050 1050
1100 1100
ES 4 z2
1150 1150
1240 | E&E5EN |BaEH Y 1240 |E#EmEX
E BEE |BeHE 5 ES Ekee
1330 1330
1340 |8 | BERX 1340 |EEEX
z BEE |BeHE 6 E EmH
1430 1430
1440 |EEHEHEN |BEHEY 1440 |E#EEX
E BEE |BeHE 7 ES Ekee
1530 1530
1540 |EEER|EBERE YT 1540 |E&#E:EX
E BeHE | HEH 8 E B
1630 1630
=B — _ = 1 il
o 2/13 2/14 2/15 2/16 2/17
0800
ES
0850
0900
ES
0950
1000
ES
1050
1100
ES
1150
1240 |E8iEsa | B8R
ES B | TBX
1330
1340 |EEiEsa | BEH
ES FEN | EBX
1430
1440 |E8#EZHEX
ES FEI
1530
1540 |E#EHX
ES FEI
1630




111BEE RERK( ZREES ). #t 54 &

RERFED . FHIE - RFE - £ER - F1BN

=B — _ = [ il = — _ = L il
E—E 1/30 1/31 2/1 2/2 2/3 | 2/6 2/7 2/8 2/9 2/10
0800 [=ES RS [=ES 0800 =ES RS =ES
£ ZHE | EEE | REE 1 E FHE | REE | JTEN
0850 4R 1 [EES 0850 mK | #h=E | ER
0900 Rl =k R 0900 2R =k 2R
E =NE | TBE | RES 2 = =M@ | REE | TR
0950 4 1Bz [EES 0950 H1E (5 &z
1000 [=ES RS [=ES 1000 (=ES] kS BRl
£ ZHE | EEE | RBEE 3 E FHE | REE | TN
1050 4R 1 [EES 1050 SHME (3 BB
1100 Rl L=k R 1100 2R L=k 2R
ES RHEE | TBE | =H0E 4 = TERE | =& | FER
1150 4 £z =BG 1150 HiE |RE|ALE EER
1240 "Rl S =ES 1240 =ES S BRl
£ REE | BN | =HE 5 E EE | =HE EE
1330 tEwm | wmeens| DR 1330 SERIA|RELE BIR
1340 L=k =k [=E S 1340 [=E S L=k 2R
E REE | B | =H0E 6 = TER | =UE | TZE
1430 1 =8 m& 1430 SENABELEE| BER
1440 1440
= 7 z
1530 1530
1540 1540
E 8 ES
1630 1630
— _ = g il
B 2/13 2/14 2/15 2/16 2/17
0800 "Rl S 2R
z RN | =HE | RBE
0850 WRAETE| AR | mowoom
0900 RR =k 28
ES TN | =NE | RBE
0950 WRETE| AR | BREE
1000 R R =S
z EEN | CEEN | REBE
1050 WREE| MR [ BUER
1100 L=k =k 28
ES TER | FBA | BB
1150 WRETE| AR | BEE
1240 RRl BRl =R
z FER | BR[| BB
1330 WRETE| R | EEEE
1340 L=k =k 28
ES TER | FBA | BB
1430 WRETE| fBAE | BRE
1440
1530
1540
2
1630




111858 FERR( RIINBEER(CD) ) #H72=2
ZERAEN . T E - SREVE - RS - MIRIE - SRIEFE - HlE - REBE -t

?EE
I~ E
=E — _ = [ il =B - - = 3 I
E£—8 1/30 1/31 2/1 2/2 2/3 $£_i8 2/6 217 2/8 2/9 2/10
0800 ALRAT | Tokgp | ERYA | HRRE | Rk 0800 heb AR | REH | heA | RFHE
1 E HIT CHF | w3133 (s eomsizm| 30 FK 1 E B (Mgl s AR scl
0850 iz 0850 |oARAGA
0900 | Afjpac | Tokp | v | fhik | thik g 0900 | tkeiga | sEjr | thehdm | EEFR
2 E HIT CHF | wugfa2||pswpnsn| A 2 E A | # e e SCI
0950 [y 0950 + 45
1000 ALRAT | kg | ERYA | HRRE | Rk 1000 R4 48 TR fb | REE
3 z CVA CHF |wu=si DI B 3 = 4t e sraie|  SCI
1050 UTI 1050 ¥ 37
1100 A RAT | Tokg [ R | HokE | iR E 1100 thai gl | R | HR4fR | REH
4 E CVA CAD |.wumis DI Y 4 E Wi | HgEr| FAE | HIVD
1150 2% 1150 BPH
1240 AR | Tk | EYAR | HokE | Hk 1240 a4 | B [ thsbAh | REHE
5 ES e CAD g | SIADH | 5 ES B 3E B NPC HIVD
1330 4 2 1330 BPH
1340 | A¥gAc | ik | 3RV E | deok | Rk | 1340 | thahfh | W ¢ 4 | theRfh | SEEE
6 S B CAD ﬂ:@ LN Y PYiS 6 E3 IS & EE YRR HIVD
1430 Ak # 1430 | e
1440 8 8 7 7 7 1440 7 6 9 9
7 ES 7 £
1530 1530
1540 1540
8 ES 8 ES
1630 1630
=B — — = ] fil
]| 2/13 2/14 2/15 2/16 2/17
0800 | 4+ | sEv4 | LT
1 3 DM PD o
0850
0900 | ##¢% | sEv4 | LT
2 3 DM PD # ok
0950
1000 | B34 [ &4 | EEE
3 3 DM MG + F g gL
1050
1100 | B3 F [ 564 | & T
4 3 DM MG LR
1150
1240 | B3+ [ &4 | #wEE
5 3 [t s Epilepsy | 8k 4
1330
1340 | B3 F [ k4 | EEE
6 I Bt Epilepsy [ x4
1430
1440 14 10 8
7 z
1530
1540
8 2
1630




11184

E
=

i

[BRR(BREHEE—)

H54=

IRERHEN . SRR - THE - =ik - =250 - FRE
= — — = m pal g — - = ) pal
£ 1/30 1/31 2/1 2/2 2/3 E_B 2/6 2/7 2/8 2/9 2/10
0800 wim R HRe | EE&(AD) | BE&(AD) 0800 LilMeS e IR &= &=
E B | EHE | EHE | FTHE | FTER E FME | SR | SR | 8B | SBW
0850 0850
0900 R wEm Ame | BERGE | A 0900 BE AES BIR BIR BIR
z SHe | Bk | EHE | FHE | FTER z FME | B | SR | BRI | SBW
0950 0950
1000 W Ak | BER(AN) | BER(AD) | ALA 1000 LllNeS BLe BR &= &=
E B | EHE | EHE | FTHE | FTER E FME | SR | SR | BB | SBW
1050 1050
1100 R AfE | BEEAED) | BEEED | A 1100 BE B BIR BIR BIR
z S | Bk | EHE | FHE | FER z FME | B | SR | BRI | SBW
1150 1150
1240 1240
E 2
1330 1330
1340 1340
z z
1430 1430
1440 1440
E 2
1530 1530
1540 1540
z z
1630 1630
=E(E — — = 7 fal
£=18 2/13 2/14 2/15 2/16 2/17
0800 &= BR B BR
E BN | ER | FTHEE | THEE
0850
0900 &= ' &= -
= BN | ERHW | FEE | FHE
0950
1000 &= IR B
E BEWM | ERm | FTEE
1050
1100 &= ' &=
= WM | EHWM | FEE
1150
1240
E
1330
1340
=
1430
1440
E
1530
1540
E
1630




111858 FERR(BHEEB ") #H54%

o
rﬁ\\T)Q

1/30

1/31

2

~

1

2/2

2/3

RERAEN : BREX - B - =7 - BREILE - FiE
— m il

g — = Iy

pil

2/6

277

278

2/9

2/10

FiEE

=5m

e
=5

e
+#
EN

+ HAl

e
T

A

5

L
ERAEIE

F R

FEE
FRFATE

W
i

BB
B

HiE
ERAp

HiE
B

LR

=5

LR
=gl

GRS
BREIE

B
BRIt

GRS
BEIE

R
FBEANE

i
it

HIE
E&p

HiE
E A

HiE
E&p

FEE

=8m

e
=5

FE

L
ERAEIE

FEE

FE
FRFATE

HiE

EliEyed

b
B

HiE
ERAp

HiE
B

LR

=5

LR
=gl

GRS
BREIE

B
BREIE

g
BEIE

R
FBEANE

HikE

By

HIE
E&p

HiE
E A

HiE
E&p

2/13

2/14

2/15

2/16

2/17

HIE
E &

PR
BRE X

IR
BRE

MR
BRE

HiE
E&Ap

MR
BREX

WER
BREX

MR
BREX

MR
E &

MR
BRE X

IR
BRE

AR
E A

MR
BREX

WER
BREX




11186E EERRRYERSER—) - 3362
BIRET : R - TMIE - Wi
1

o
rﬁ\\T)Q

7 il =

& —
Z

I
[
=

1/30 1/31 2/1 2/2 2/3 B8 2/6 2/7 2/8 2/9

2/10

0800

0850

0900

0950

1000

1050

1100

1150

1240

1330

BE(E) | BB | B8R0 | BB®) 1240 | BEE(®) | BE(®) | BEE(E) | NAGE)
FME | TME | TME | TME 5 EY BRES | BREXC | ShaiE | Pk

1340

1430

BE(E) | BE(R) | BR(1R) | BR(1R) 1340 | BE(1) | BEE(1R) | BEE(1R) | MM(E)
FME | ZME | E=ME | FRE 6 z BRES | BREC | =haifE | SPaake

1440

1530

BE(E) | BR(E) | BE(E) | BH(E) 1440 | BER(®) | BE(E) | BR(®) | IA(E)
EME | TRE | ERE | TRE 7 = | mex | mux | see | see

1540

1630

b o
®

R
[1]
B

\
=1
tr

2/13 2/14 2 2/16 2/17

MAE) | AEE) | AE) | LAE)

SBFKE | FBEE | BEE | FTME

BEAGE) | AES(E) | ALES(E) | ALEY(1R)
KE | BAE | FME | FME

MAE) | AEE) | AE) | LAE)
HAKE | BAE | FTME | TME




EERENAN - B - XS - BEE - BMEF - £F

111858 FERR( EB(—) ) -# 36 =
B

=B — — = 7 fil =i — — 7a il
E ] 1/30 1/31 2/1 2/2 2/3 F£8 2/6 2/7 2/8 2/9 2/10
0800 0800
1 ES BEE | BETS | 2K 1 ES 2t | BMRE | MRS
0850 0850
0900 0900
2 ES BREE | BREE | B 2 ES 2t | BMRE | MRS
0950 0950
1000 1000
3 E BEE | BEE | 2tH 3 z 2t | BMRE | MRS
1050 1050
1100 1100
4 E BEE | BEE | 2tH 4 z 2t | BMRE | MRS
1150 1150
1240 1240
5 z 5 E
1330 1330
1340 1340
6 ES 6 ES
1430 1430
1440 1440
7 z 7 E
1530 1530
1540 1540
8 EY 8 ES
1630 1630
— — = 7 il
2/13 2/14 2/15 2/16 2/17

THF | INF | #BE




